Kansas Corporation Commission Oil & Gas Conservation Division

Form CDP-8 August 2004 Form must be Typed

EXPLORATION & PRODUCTION WASTETRANSFER

67

Operator Name: Murfin Drilling Company, Inc.	License Number: 30606
Operator Address: 250 N. Water, Suite 300, Wichita, KS 67202	
Contact Person: Shauna Gunzelman	Phone Number: (316) 267 - 3241
Permit Number (API No. if applicable): 15-025-21411 0000	Lease Name: Carter
Source of Waste:	Well Number: 1-12
□ Dike □ Emergency Pit □ Settling Pit □ Workover Pit □ Drilling Pit □ Burn Pit □ Haul-off Pit □ Steel Pit □ Spill / Escape	Source Location (QQQQ): S2 - N2 - SE - SE Sec. 12 Twp. 32 R. 21 East West 895 Feet from North / South Line of Section 810 Feet from East / West Line of Section Clark County
Type of waste to be disposed: Fluid Soil Mud / Cuttings	Other:
Amount of waste: No. of loads Barrels	YDS
Destination of waste: Reserve Pit Disposal Well Lease Road	d Dike / Berm Other:
If waste is transferred to another reserve pit, is the lease active?	D
Location of waste disposal: Operator Name: Thoroughbred Associates Lease Name: Weldon Docket No.: D-27987	Date of Waste Transfer: 5/23/07 & 6/4/07 & 6/6/07 License No.: 31514 Sec. 22
	RECEIVED KANSAS CORPORATION CO
	JUL 0 2 200
	CONSERVATION DIVIS WICHITA, KS
The undersigned herby certifies that he / she is Executive Vice Pre-	sident orized agent, that all information shown hereon is true
and correct to the best of his / her knowledge and belief.	Agent Signature



CLARKE CORPORATION

107 W FOWLER; PO BOX 187 MEDICINE LODGE, KS 67104

Invoice # 131281

Phone # 620-886-5665 Fax # 620-886-9855

Ptt

6/15/2007

MURFIN DRILLING CO. **P.O BOX 288** RUSSELL, KS 67665-0288 USED FOR New Well Dilling APPROVED 1

		1444	C VISCHI	K []2	
Service Date	Ticket#	Description	Qty	Rate	Amount
06/04/2007 06/04/2007 06/04/2007 06/06/2007 06/06/2007 06/06/2007	14752	PULLED WATER OFF RESERVE PIT TO WELDON SWD WELDON DISPOSAL CHARGE FUEL CHARGE PULLED WATER OFF RESERVE PIT TO WELDON SWD WELDON DISPOSAL CHARGE FUEL CHARGE	4.00 160.00 4.00 6.00 240.00 4.00	62.00 0.16 3.75 62.00 0.16 3.75	248.00 25.60 15.00 372.00 38.40 15.00
		Account Rig 7	Pull d	1 bH C Resew	OAP,+

Sales Tax (0.0%) \$0.00 Total Due \$714.00

Thank You!!

KANSAS CORPORATION COMMISSION

RECEIVED

JUL 0 2 2007



CLARKE CORPORATION
P.O. BOX 187
MEDICINE LODGE, KS. 67104 Phone 886-5665

14752

To: Order No. Called by 01 #5 Date Well No. FORM11005-C

RECEIVED KANSAS CORPORATION COMMISSION

JUL 0 2 2007

KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION

Form CDP-5 August 2004 Form must be Typed

EXPLORATION & PRODUCTION WASTETRANSFER

07

Operator Name: Murfin Drilling Company, Inc.	License Number: 30606
Operator Address: 250 N. Water, Suite 300, Wichita, KS 67202	2
Contact Person: Shauna Gunzelman	Phone Number: (316) 267 - 3241
Permit Number (API No. If applicable): 15-025-21411	Lease Name: Carter
Source of Waste: Dike Settling Pit Workover Pit Burn Pit Steel Pit Spill / Escape	Well Number: 1-12 Source Location (QQQQ): S2 _ N2 _ SE _ SE Sec. 12 _ Twp. 32 _ R. 21 _ East
Type of waste to be disposed:	
Amount of waste: No. of loads Barrels	YD\$
Destination of waste: Reserve Pit Disposal Well Lease Roa	ad Dike / 8erm Other:
If waste is transferred to another reserve pit, is the lease active?	No
Location of waste disposal: Operator Name: KBW Oil & Gas Lease Name: D-22304 Docket No.: D-22304	Date of Waste Transfer: 5/23/07 & 6/4/07 License No.: 5993 Sec. 11 Twp.33S R. 20 East West County: Comanche
and correct to the best of his / her knowledge and belief. Subscribed and sworn to before me on this 29th day of June	thorized agent that all information shown hereon is true Agent Signature 2007 Molary Public RECEIVED KANSAS CORPORATION CON



CLARKE CORPORATION

107 W FOWLER; PO BOX 187 MEDICINE LODGE, KS 67104 Invoice # 131242

Phone # 620-886-5665 Fax # 620-886-9855

MURFIN DRILLING CO. P.O BOX 288

RUSSELL, KS 67665-0288

APPROVED TO DATE POP

COP \$\forall \(\forall \)

	T				
Service Date	Ticket #	Description	Qty	Rate	Amount
05/23/2007	8905	HAULED WATER OFF RESERVE PIT TO HARMON AND WELDON SWD	8.00	62.00	496.00
05/23/2007	1	HARMON DISPOSAL CHARGE	160.00	0.20	32.00
05/23/2007	İ	WELDON DISPOSAL CHARGE	160.00	0.16	25.60
05/23/2007	l	FUEL CHARGE	8.00	3.75	30.00
06/04/2007	8958	HAULED WATER OFF RESERVE PIT TO HARMON AND	4.00	62.00	248.00
06/04/2007		WELDON SWD HARMON DISPOSAL CHARGE	80.00	0.20	16.00
06/04/2007		WELDON DISPOSAL CHARGE	80.00	0.16	12.80
06/04/2007		FUEL CHARGE	4.00	3.75	15.00
06/06/2007	15363	HAULED WATER FROM PITS AND CELLAR, HAUL 60 BBLS. TO WELDON SWD	2.00	62.00	124.00
06/06/2007		WELDON DISPOSAL CHARGE	60.00	0.16	9.60
06/06/2007		FUEL CHARGE	2.00	3.75	7.50
		Agount Rig L No. Amount	يام و الله الله الله الله الله الله الله ال		- -
		Blox 100 Ur 2844 1016 50	Abin 1	11/0/11	RAD
		1000 000 00	Course !	Paseu	Pit
• 14•	·			Reserv	
	1				{

Sales Tax (0.0%)

\$0.00

Total Due

\$1,016.50

Thank You!!

RECEIVED KANSAS CORPORATION COMMISSION

JUL 0 2 2007

08905

CLARKE CORPORATION
P.O. BOX 187
MEDICINE LODGE, KS. 67104 Phone 886-5665

TO: MURFIN DALY CO	Order No.		
	by JEREMY		
Driver MicHARL BEADEN	Date 5-	23	20 <i>07</i>
Lease CARTER	Well No.	1-12	
HAMBO WOTER OFF RESERVE 8:	T TO		
2 Lanex storemon suo alone		uD	
9000			
80881 5-23-2007 84h .600	420405	496	00
3 6 20 1 877 100	7~45	, ,	
SNO FEL 20 MOBI	3201811	64	00
	•	/	
			ļ <u>.</u>
<u> </u>			
		/	<u> </u>
The second		/_	ļ
	VII	/	
	`		-25
		560	

RECEIVED KANSAS CORPORATION COMMISSION

JUL 0 2 2007



CLARKE CORPORATION P.O. BOX 187 MEDICINE LODGE, KS. 67104 Phone 886-5665

TO: MURFIN DOLG GO	Order N	lo	
Called	d by		
Driver Mic HASL OKODE	Date 6	- 4	20 07
Lease PARTER	1-12		
HAYLED RESMENE P.TWATER OF		T	
140 To HARMEN SWO 140	OF TO WELL	sen en	
			1
800813	-	 	
6-4-0007 4th 6200	alens	248	de
SUM FEE 204 Mgg L	/600045	32	0
		<u> </u>	
<u></u>	रक्षडाङ्गा	/	
Ley			
	<u></u>		-6
		280	2
			FORM11005-C

RECEIVED KANSAS CORPORATION COMMISSION

JUL 0 2 2007



15363

CLARKE CORPORATION P.O. BOX 187 MEDICINE LODGE, KS. 67104 Phone 886-5665

To: Murfin DRIS CO INC.	Order No.	
Called	by JACK Eluderus	ood
Driver 2). dlimpson	Date & . 6	20 <i>0</i> >
Lease Canter	Well No.	
Le Ressed Free Water from	Working	
PITS RCELLAR hauled 60BB	1s to Welden	
Pits Reellar hauled 60BB. *2 SWD 2hrs Oc200 Per h	r 124	00
	•	
·		
	UZBED	
<u>U</u>		
•		
·		
Ye.		
		FORM11005-C

RECEIVED KANSAS CORPORATION COMMISSION

JUL 0 2 2007